(6T —1)
AENZEFREE (HIBUFEF)

(B)ER26F4R1H (B)FER27FE3A31H

(BT FH)
& & g * Hi g =
REE
# ® B B RFE N _
x5 ELRRmH OOmR|oom®R|00EE|00E:
N EERIRILA
FAFIRA
% HBEEIA 112,500 0 112,500
EEEIRA
-y Iz FARISZH9FI AU A
BB EIRA 1,050 0 1,050
S RERBHBSIA
FHEUA 401 221 180
) HURA 1,600 0 1,600
R A (AR aRmB2RA 821 0 821
e SZHF RE L EURA
= SEHEMRBASIRA
¥ BREXOBBASIRA
BEIRAG (1) 116,378 221 116,156
3 AGEXH 87,014 0 87,014
g EXEXH 9,583 221 9,362
Iy X EXEIH 10,020 0 10,020
EAEFRXH 821 0 821
+ B gz meAsTH
BEXZHE(2) 107,438 221 107,217
BEEIHESINIEE(R)=(1)—(2) 8,939 0 8,939
2 RERERDZIA
i | UR |ERBHEEFMEIRA
X B & BT HUA
g
A= _
IR EHEIRAGT (4) 0 0 0
. z EEEERSZE 3238 0 3238
K £ X |eAex
”é H MEER B mEXZ HET (5) 3238 0 3238
EREHEESINTELE(6)=(4)—(5) -3238 0 -3238
& ASULA
iR Iz & FMAESTTHIRA
EASTEESHBSIRA
& BT TR BEIA
w1 A
= ZFDHDUIA
&) BAFSURAET (7) 0 0 0
= EAZ TR B EmEE X L 3,504 0 3.504
& % RERMIIETINXH
% BUTESREIXE 8,000 0 8,000
)} ZDhDXH 950 0 950
% | & |roaesmns-ssaenras
B FEX HiET(8) 12,454 0 12,454
BEESASINTELE(9)=(7)—(8) -12,454 0 -12,454
L SINFTEZEEEH(10)=(3) +(6) +(9) -7,553 0 -7,553
ATEARZINEEZS(11) 20,758 0 20,758
LHARZIEEEZS(10)+(11) 13,205 0 13,205




